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1. For each equation given below; name the dependent and independent variables.

()

(i)
(iii)
(iv)

Solution:

(i)

(i)

(i)

(iv)

4
y= 5.7(-7
X=9y+4
5y+3
2
y=% (6x +5)

X =

4
y= gkf—'7

Dependent variable is y
Independent variable is x

X=9y+4

Dependent variable is x
Independent variable is y

5y+3
2
Dependent variable is x
Independent variable is y

X =

y == (6x+5)

Dependent variable is y
Independent variable is x

2. Plot the following points on the same graph paper:

(1)
(1)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)
(ix)

Solution:

(8 7)
(3,6)
(0,4)
(0! '4)
3,-2)
('21 5)
(-3,0)
(5,0)
(-4,-3)

Let the points be,
@H @ 7=A
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(i) (3, 6)=B
(i) (0, 4)=C
(iv)  (0,-4)=D
v) (3-2)=E
(vi) (-2,5)=F
(vii) (-3, 0)=G
(viii) (5, 0)=H
(ix)  (-4,-3)=I
y
7T * A(8,7)
61 * B(3,6)
F(-2,5) 5+
4 C(0.4)
3—..—
2_.._
G(-3,00 T H(5,0)
x ———t—F—+—+—t——F—1—1+—+—x
-5-4-3-2-1_*1234 5 6 7 8 9
21 ® E(3,-2)
1(-4,3) -3+
-4+ D(0,-4)
y!

3. Find the values of x and y if:

(I) (X - 11 y + 3) = (4! 4!)

(i) (Bx+1,2y-7)=(9, -
(iii) (5x - 3y, y - 3x) = (4,

Solution:

9)

-4)

Two ordered pairs are equal.

(i)
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[x—1y+3)=(4.4)
x—1=4 andy+3=4
x=5Sand w=1
(ii)
(3x+1,2y—?]:(9,—9}
Ax+1=9and 2y-7T=-5
3x=8and 2y=—-2
x:% atd y=-1
(iii)
(5;{—3}:,}:—3){):(4,—4)

3y—9x=-12... (C)

Adding both the equations (A) and (C), we get
Ex =3y +3By—0=4+(—-12)
—4x=-5
=2
Putting the value of x in the equation (B), we get
y—3x=—4

=y=3x—4

=y=32)—-4

=y =72

X=2,y=2

Concise Selina Solutions for Class 9 Maths Chapter 26-
Co-ordinate Geometry

4. Use the graph given alongside, to find the coordinates of point (s) satisfying the given

(i)

condition:
The abscissa is 2.

(i)  The ordinate is 0.

(ili) ~ The ordinate is 3.

(iv)  The ordinate is -4.

(v)  The abscissa is 5.

(vi)  The abscissa is equal to the ordinate.
(vil)  The ordinate is half of the abscissa.
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6 H
1, ° E
Co 5 e ]
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x < 6 -4 -2 0| _ 2 4 6 '
[ ] [ ]
E i G
‘D
-6
Y
Y!
Solution:
Q) The abscissa is 2

According to the graph,
The co-ordinate of the given point A is given by (2, 2)

The co-ordinate of the given point B is given by (5, 0)

The co-ordinate of the given point C and E is given by (-4, 3) & (6, 3)

The co-ordinate of the given point D is given by (2,-4)

The co-ordinate of the given point H, B and G is given by (5, 5), (5, 0) & (5,-3)

The co-ordinate of the given point I, A & H is given by (4, 4), (2, 2) & (5, 5)

(i) The ordinate is 0
According to the graph,
(i)  The ordinate is 3
According to the graph,
(iv) The ordinate is -4
According to the graph,
(V) The abscissa is 5
According to the graph,
(vi)  The abscissa is equal to the ordinate.
According to the graph,
(vii)  The ordinate is half of the abscissa

According to the graph,
The co-ordinate of the given point E is given by (6, 3)

5. State, true or false:
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(i)
(i)
(iii)
(iv)
v)

(vi)
(vii)
Solution:

()

(ii)

(iii)
(iv)
(V)

(vi)
(vii)

The ordinate of a point is its x-co-ordinate.

The origin is in the first quadrant.

The y-axis is the vertical number line.

Every point is located in one of the four quadrants.

If the ordinate of a point is equal to its abscissa; the point lies either in the first
guadrant or in the second quadrant.

The origin (0, 0) lies on the x-axis.

The point (a, b) lies on the y-axis if b = 0.

False.
False.
True.
True.
False.
True.
False

6. In each of the following, find the co-ordinates of the point whose abscissa is the solution of
the first equation and ordinate is the solution of the second equation:

(i)

1
3 —2% =?;2*_,f+1=1|2|—2§ﬁ,f.

Solution:

(i)

a—

a—
3-T=2x

2x="T 2y+1=10—2%y
ax="1

-4 =2x

—2=x
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2y+1= 10—2%}:

2y+1= 10—%}:

dy+2=20-5y
dy+oy=20-72

9y =18
y=2

" The co-ordinates of the point (-2, 2)

15-4b 251
7 3
4512k =144 -7
45+7 = 145 +124
52 = 264

b=2

" The co-ordinates of the point (6,2)

(iii)

Sx—{5—-=x =l i-x ;4—3y=—4+‘y
2 3
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5x—(5—x}:

(3-7)
(3-7)

12x-10=3-x
12x4+x=3+10

[ el

{5x+x}—5:

15x=13

r=1

4ozy ATV

12-%y=4+y

12—4=v+5y
B=10y

;)
1—
.. The co-ordinates of the point ( 3

7. Ineach of the following, the co-ordinates of the three vertices of a rectangle ABCD are
given. By plotting the given points; find, in each case, the co-ordinates of the fourth vertex:

Q) A (2,0),B (8,0)and C (8, 4).

@i A@4,2),B(-2,2)and D (4, -2).

(iii)) A (-4,-6), C (6, 0) and D(-4, 0).

(iv)  B(10,4), C (0, 4) and D(0, -2).

Solution:

() A2 0),B(8,0)andC (8, 4).
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According to the graph D(2,4)
(i)  A(4,2), B(-2,-2) and D(4,-2)

B(-2,2)s—=2 A(4,2)

) =
o -
o -
- -
o -
[T .

1]
[4 I
1
B
w

» ——t—
]
L
-
N——

2 *D(4,-2)

According to the graph C(-2,2)

(iii) A (-4, -6), C (6, 0) and D(-4, 0).
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D(-4,0) Iy C(6,0)

L — 1 l
T

: S — —t—
5 -4 -3 -2 -1 1234567 89

A(-4,6) -5 * B(6,-6)

(iv) B (10, 4), C (0, 4) and D(0, -2).

* B(10,4)

—t—t—t—t—+——+1 x
5 -4 -3 -2 -1 1234567 8 91

-2 *A(10,-2)

According to the graph A(10, -2)

8. A(-2,2),B(8,2)and C (4, -4) are the vertices of a parallelogram ABCD. By plotting the
given points on a graph paper; find the co-ordinates of the fourth vertex D.

Also, form the same graph, state the co-ordinates of the mid-points of the sides AB and CD.
Solution:
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Given, A(2,-2), B(8,2) and C(4,-4) are the vertices of the parallelogram ABCD

Yy
4

D(-6,-4)* -4 s C(4,-4)

Joining A, B, C and D we get the parallelogram ABCD.
According to the graph, we get, D(-6,4)
From the graph,
The co-ordinates of the mid-point of AB is E(3,2)
The co-ordinates of the mid-point of CD is F(-1,-4)

9. A(-2,4),C(4, 10) and D(-2, 10) are the vertices of a square ABCD. Use the graphical
method to find the co-ordinates of the fourth vertex B. Also, find:
Q) The co-ordinates of the mid-point of BC;

(i)  The co-ordinates of the mid-point of CD and

(ili)  The co-ordinates of the point of intersection of the diagonals of the square ABCD.
Solution:

Given, A (-2, 4), C(4, 10) and D(-2, 10) are the vertices of a square ABCD
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y F(4,-4)
D(-2,10) ¢—t0-+—e———2C(4,10)

\S

N

* E(4,7)
/

/?
A(-2,4) s * B(4,4)

?..

&+
AL
&+
o

1

-

[
L
=

o -+
o -
-~y 4
o -+
1.

According to the graph, we get, B(4,4)
From the graph,
The co-ordinates of the mid-point of BC is E(4,7)
The co-ordinates of the mid-point of CD is F(1,10)
the co-ordinates of the diagonals of the square is G(1,7)

10. By plotting the following points on the same graph paper. Check whether they
are collinear or not:

Q) (3,5),(1,1)and (0, -1)

(i) (-2,-1), (-1, -4) and (-4, 1)

Solution:
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5+ * C(3,5)

*(4,1) 1+ «B(1,1)

X ———— —t—t—
5 -4 3 -2 -1 1.2 3 4
e -141(0,-1)

21 |

3+
(-1,-4) 0.4+

o -
o -
=] ==
o -
w2

Y

After plotting the given points, we have clearly seen from the graph that
Q) A (3,5),B (1, 1) and C (0, -1) are collinear
(i) P(-2,-1), Q (-1, -4) and R (-4, 1) are non-collinear

11. Plot the point A (5, -7). From point A, draw AM perpendicular to x-axis and AN
perpendicular to y-axis. Write the co-ordinates of points M and N.

Solution:
Given A (5, -7).
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oo
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o U

- e —

1
1
B
1
1
[
1
—
m-—
o -
F
m-—
[T. 3
—
o+

-7e ® A(5,-7)

According to the graph,
Co-ordinate of the point M is (5, 0)
Co-ordinate of the point N is (0,-7)

12. In square ABCD; A =(3,4),B =(-2,4) and C = (-2, -1). By plotting these points on a graph
paper, find the co-ordinates of vertex D. Also, find the area of the square.
Solution:
Given that in square ABCD; A=(3,4),B=(-2,4)and C = (-2, -1)

https://byjus.com


https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

m BYJ Uis Concise Selina Solutions for Class 9 Maths Chapter 26-

The Learning App Co-ordinate Geometry

B(-2,4)e :.y * A(3,4)
54
ot
1_._
X —————t—t——1—t—t————x
5 -4 -3 -3 -1 1.2 24 5 6 7 8 910
C(-2,-1) ' D(3,-1)
21
-3+
.4-..-
Y

According to the graph,
The vertical distance between the points B (-2, 4) and C (-2, -1) is 5 units.
The horizontal distance between the points B (-2, 4) and A (3, 4) is 5 units.
The vertical distance between the points A (3, 4) and D must be 5 units.
The horizontal distance between the points C (-2, -1) and D must be 5 units.
Now, complete the square ABCD
Hence, from the graph D (3,-1)
Thus, the area of the square ABCD is given by,
Area of ABCD = (side)? = (5)? = 25 units

13. In rectangle OABC; point O is the origin, OA = 10 units along x-axis and AB = 8 units.
Find the co-ordinates of vertices A, B and C.

Solution:
According to the question,
Since,
O is the origin, OA = 10 units along x-axis,
We get,
O (0,0) and A(10,0)
Similarly,
As AB = 8 units

B (10, 8) and C (0, 8)
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1. Draw the graph for each linear equation given below:

PAGE:320

0] x=3
(i) x+3=0
(i) x-5=0
(iv) 2x-7=0
(v) y=4
(viy y+6=0
(vii) y-2=0
(viii) 3y+5=0
(ix) 2y-5=0
(x) y=0
(xi) x=0
Solution:
(i)
X 3 3
y -1 0 1
y
5__
4__
3T ? 3,1)
2__
'T 3,0
X o
5 -4 -3 2 - 1.2 3 4 1
Lidoh) 5 6 7 8 9 10
-2
31 ® (3,-1)
-4
y!
(ii)
X -3 3 -3
y -1 0 1
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y
5__
4__
3__
2__
(-3,1)e 14+
L | 1 ](-310)1 1 1 1 L 1 1 1 | | |
X | & T U | p— | R E— — I — X
-5-4-#-2-1__1234 5 6 7 8 9 10
-31)]
24
_3—._
_4—._
y,
(iii)
X 5 5 5
y -1 0 1
y
5__
4__
3__
2__
1+ (5!1)T
, 5,0
xlllii'lll(’l){lllx
-5-4-3-2-11h1234 "673910
) (5='1)
24
_3-»-
_4-»-
y,
(iv)
We can also write the equation as:
7
r=—=
2
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https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

[BYJu's

The Learning App

(v)

Concise Selina Solutions for Class 9 Maths Chapter 26-

Co-ordinate Geometry

https://byjus.com

X 7 7 7
2 2 2
y 1 0 1
y
154
14+ e (7/2,1)
0.5
] 1 1 (7],2’0) ] 1
Yo N SRR S
-0.5+
144+ e7/2,-1)
.54
y,
-1 0 1
4 4 4
y
?_._
6__
5__
'1!41‘_ _.(1!4) }
< g
(0,4)
24
14
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(vi)
X -1 0 1
y 6 6 6
y
3__
2__
1__
X F———————————— :
5432 |123456738?9
—24
-3
T —(0,6)
-5
1,-6 ;
DL N T
7+
'8__
Yl
(vii)
X -1 0 1
y 2 2 2
y
V(O,-?)
3
('192) 1,2
<2y
1~_
I g R I A S A
24
.3~—
q4_~_
-5——
.6__
7+
-8__
y!
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(-1,0).

X
5 -4 -3 21 |

(xi)

X
o

o -
o -+
~ -
o -+
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2. Draw the graph for each linear equation given below:
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() y=3x
(i) y=-x
@) y=-2x
(iv) y=x
(V) 5x+y=0
(vi) x+2y=0
(vii) 4x-y=0
(viii) 3x+2y =0
(ix) x=-2y
Solution:
(i)
X -1 1
y -3 3
—t—t—t
5 6 7 8 9
=4} -4~
-5~
64
T+
-8+
y!
(ii)
X -1 1
y 1 -1

https://byjus.com


https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

[BYJu's

The Learning App

(iii)

Concise Selina Solutions for Class 9 Maths Chapter 26-

Co-ordinate Geometry

(iv)
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1+ tulu]
xI|. 1 1 1 /l l 1 1 L 1 1 1 x
543 2 V| 3456789
7 o)
34
4
Bt
_E__
74+
_3--.
F'l
(v)
X -1 0 1
y 5 0 -5
y
(0,0)
N
1 3 4 5 6 7 8 9
.('1!'5)
y
(vi)
X -1 0 1
1 1
Z 0 -
y 2 2
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(0,0)

(vii)

w L

[EEN

- * (1,4)

[

(=1 I o
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3. Draw the graph for the each linear equation given below:

Q) y=2x+3
i) y=5-1
@) y=-x+4
(iv) vy= 4x-§

v y=T+;

(vi) 2x-3y=4
i) ZL-_22-
(viii) x-3=2(y + 1)
(ix) x+by+2=0

Solution:

(i)

k| Lk
w

(i)

(%]
1
N
'
-
-y
”——
& -
B
ull—»—
m——
“4-

o+

[I- 3 =

| Lh
1
H

|
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(iii)

(iv)
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34+
2+

141}

o+
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o -+

w1
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o -
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1]
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X T f /{ i
-2 -1 / 1 2

(A =
=%
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/{* (0,-5/3)
¥ ol
(-1,-13/2) Y’
X -1 0 1
2 2 13
y ) 3
y /
02 | /01190
X’ ————A——————t————x
5 -4 -3 -2 5 12 3 4 5 6 7 8 9
(-1,-5/6 sl
_10-_
y!
X -1 0 1
_ 4 _ 2
y ) 3 3
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y
7__
6_._
5__
4 4+
3—»—
24
5'2,'3)
1+ //
X ——t—t—+1Trr—t—t—t———
-5 -4 -3 -1_1_/.23456789
4
{-1,-2)7*-2:-\(0,-4»'3)
_3__
_4__
y!
The equation can be written as,
X -1 0 1
10 g
y - -3 -2
y
10+
54
(1,-2)
+— H—
2 - 7
—
W \
ST (0-83)
(-1,-10/3)
=104
y!

(viii)
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The equation can be written as,

Co-ordinate Geometry

5Xx-2y=17
X -1 0 1
17
-11 -— -6
Y >

(ix)

o2 (0,-17/2)

(-1,-11) s

*12

ILh ] —
Lh| o

h |
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4. Draw the graph for each equation given below:
Q) 3X+2y =6
(i) 2x -5y =10
1 2
(iii) 2Ex1+ Eyzz 5
) 5o
In each case, find the co-ordinates of the points where the graph (line) drawn meets the co-

ordinates axes.

Solution:
(i)
X -2 0 2
Y 6 3 0
AY
(-2,6)% 6T
5--
31!-(013)
2--
T 2,0
N2 X
- -6-5-4-3-2-11__1 2\3 4 5 6 7
2
-3 =
-4+
-5+
-6+
According to the graph, the line intersect x axis at (2,0) and y at (0,3).
(ii)
X -1 0 1
Y 12 -2 8
a ]
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According to the graph, the line intersect x axis at (5,0) and y at (0,-2).

(iii)

-1

0

5.25

4.5 3.75

(-1,5.25) .{K'
4 4

" (0,4.5)
N\, (1,3.75)

According to the graph, the line intersect x axis at (10,0) and y at (0,7.5).
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(iv)
X -1 0 1
T T
Y 3 3
AY
6--
5__
¢ (1,1113)
- X
-7 6 -5 -4 -3 (-1/10,0)| 2 3 4 5 6 7
34
4__

According to the graph, the line intersect x axis at (— % O) andy at (0, 4.5).

5. For each linear equation, given above, draw the graph and then use the graph drawn (in
each case) to find the area of a triangle enclosed by the graph and the co-ordinates axes:

(i) 3x-(5-y)=7

(i) 7-3(1-y)=-5+2x.

Solution:

(i)

AN
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Area of the right triangle obtained will be:

= é »base xaltitude

1
=—xdx]12
2

=24 s5q.units
(i)

(-1,-11/3)7 |

-5+
Area of the right triangle obtained will be:

A= % » bhase x altitude

1 S
=—x—x3

2 2
= % =6.75 s5q.units

6. For each pair of linear equations given below, draw graphs and then state, whether the lines
drawn are parallel or perpendicular to each other.

Q) y=3x-1
y=3x+2

(i) y=x-3
y=-Xx+5

(i) 2x-3y=6
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Y

2 3
(iv) 3x+4y 24
XiLo

4 3

Solution:

Q) To draw the graph of y = 3x - 1 and y = 3x + 2 follows the steps:

Concise Selina Solutions for Class 9 Maths Chapter 26-
Co-ordinate Geometry

X

-1 0

1

Y=3x-1

4 -1

2

Y =3x+2

-1 2

S)

7 6 -5 -4

-3

(-1, -2) e-

-2 -/_!(0’1_1)2 3 4 5

According to the graph, the lines are parallel.

(i) To draw the graphof y=x-3andy =

-X + 5 follows the steps:

X 1 0 1
Y=x-3 -4 -3 -2
Y=-x+5 6 5 4
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le

5%.(0, 5)

N 19

765432

-2 4

3 .:./ (1, -4/3)
(-1, _3]3). {:I: (0,-2)

e

According to the graph, the lines are perpendicular.

(i)

X -

2
=—x-Z -
4 3

0

) -

N e L

e 9
yf——§><+3 5 3

lewl_&l—\

According to the graph, the lines are perpendicular.
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(iv)
X -1 0 1
Vo= — % X+60 2?3 6 %1
Y= —%x +3 % 3 %

o/~ ® ©
- <
L
)
S

_ngy
& —f—f—0
/

(-1, 27/4)

N

(-1, 15/4)

o(-1,21/4)

=

0,3
{ )

9-8-7-6-5-4-3-2 -‘_I_I

-2

According to the graph, the lines are parallel.

7. On the same graph paper, plot the graph ofy =x -2,y =2x+ 1 andy =4 from x=-4 to 3.
Solution:

First prepare a table as follows:

X -1 0 1
Y=x-2 -3 -2 -1
Y=2x+1 -1 1 3
Y=4 4 4 4

Now the graph can be drawn as follows:
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AY
6+
51+
< 4 >
31 -/(1,3)
1/

(0,1) -e-
N A X
765432 Y] /234561

(-1,-1)*1 “/-(1,-1)

/-2--(-2,0)

(-1,-3),03 <+
-4+
-5+
-6 +

8. On the same graph paper, plot the graphsof y =2x -1,y =2xandy =2x + 1 from x = -2 to X
= 4. Are the graphs (lines) drawn parallel to each other?

Solution:
X -1 0 1
Y=2x-1 -3 1 1
Y = 2x -2 0 2
Y=2x+1 -1 1 3
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61
54
Y.
3+ »#(1,3)
1/

(0.1)-/7/'1(1,1)
00 X
7 6 5 -4 -3 2 -V 1 2 3 4 5 6 7

(-1, -13,/!"/(0,-1)

(1-2)//-

(1 -3)d3 +

-4 4

-5 <

-6 +

According to the graph, the lines are parallel to each other.

9. The graph of 3x + 2y = 6 meets the x=axis at point P and the y-axis at point Q. Use the
graphical method to find the co-ordinates of points P and Q.

Solution:
X -2 0 2
Y 6 3 0

https://byjus.com


https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

BYJU'S

The Learning App

- N
1 1
/
ol
n
o
L2

Concise Selina Solutions for Class 9 Maths Chapter 26-
Co-ordinate Geometry

- i
24
34
44
54
64

According to the graph, the line intersect x axis at (2,0) and y at (0,3).
The coordinates of P(x-axis) and Q(y-axis) are (2,0) and (0,3) respectively.

10. Draw the graph of equation x + 2y - 3 = 0. From the graph, find:

(i)
(i)

X1, the value of x, wheny =3
X2, the value of x, wheny = -2,

Solution:

X

-1

Y

0
2 3 1
2
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(i)

Wheny =3, we get x =-3
(i)
Wheny=-2, we getx =7

11. Draw the graph of the equation 3x - 4y = 12.
Use the graph drawn to find:

Q) y1, the value of y, when x = 4.
(i) y2, the value of y, when x = 0.
Solution:
X -1 0 1
15 9
- -3 -
y 4
AY
64
4+

: : . . . . > X
8 6 -4 -2 / 4 6 8
ol
0.3 (1, -01)
(-1,-15/4) o 77 |

-6 4+

According to the graph,
Whenx=4,y=0
Whenx =0,y =-3.

12. Draw the graph of equation E + % = 1. Use the graph drawn to find:

Q) X1, the value of x, wheny = 10
(i) y1, the value of y, when x = 8.
Solution:
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X -1 0 1
25 15
= 5 =

y 4 4

AY
\ 10--

(-4,10) \

. 0,5
-1, 25’4)}"'(\, 21 , 15/4)

1 —
o]
1
&t
¥
1
]
N

According to the graph,
When y = 10, the value of x = -4,
When x = 8 the value of y = -5.

13. Use the graphical method to show that the straight lines given by the equations x +y = 2, X -
2y =5and g + y = 0 pass through the same point.
Solution:

We can write the given equation as:
y=2-Xx

v=é{x—5}

__ %
=3
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1
= — — X
X y:2-)( Y 2(}{ 5:' '.:Ilr:_?
1 3 3 1
3
0 2 —E 0
2
1 1 -2 —l
3

According to the graph, the equation of lines are passes through the same point.
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EXERCISE 26(C) PAGE:323
1_. In each of the following, find the inclination of line AB:
(i) } R

A/
x’</ — > X
B
\
- y’
(i) Ay
X< X\’X
\ B
yl
(iii)
y A
X'</ 4 >X
B
yl
Solution:

We know that, the angle which a straight line makes with the positive direction of x-axis
(measured in anticlockwise direction) is called inclination of the line.

Q) The inclination is 0 = 45°

(i) The inclination is 6 = 135°

(ili)  The inclination is 6 = 30°

https://byjus.com


https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

BYJ ch Concise Selina Solutions for Class 9 Maths Chapter 26-
m Co-ordinate Geometry

The Learning App

2. Write the inclination of a line which is:
Q) Parallel to x-axis.

(i) Perpendicular to x-axis.

(iii)  Parallel to y-axis.

(iv)  Perpendicular to y-axis.

Solution:

Q) 0 = 0° is the inclination of a line parallel to x-axis.

(i) 0 =90° is the inclination of a line perpendicular to x-axis.
(iii) ~ 6=90¢° is the inclination of a line parallel to y-axis.

(iv)  6=0°isthe inclination of a line perpendicular to y-axis.

3. Write the slope of the line whose inclination is:

i
(i) 30°
(iii)  45°
(iv)  eQ°
Solution:

We know that, the slope of the line is tan 6 if 6 is the inclination of a line.
Slope is usually denoted by letter m.
Q) Here the inclination of a line is 0°, then 6 = 0°
Hence, the slope of the lineism =tan 0° =0
(i) Here the inclination of a line is 30°, then 6 = 30°

Hence, the slope of the line is m =tan 6 = 30° = %

(iii) ~ Here the inclination of a line is 45° , then 6 = 45°
Hence, the slope of the lineism =tan 45° =1
(iv)  Here the inclination of a line is 60°, then 6 = 60°

Hence, the slope of the line is m = tan 60° = v/3

4. Find the inclination of the line whose slope is:

i o
(i) 1
(iii) V3
V) 5
Solution:

We know that, if tan 6 is the slope of a line; then inclination of the line is 6
Q) When slope of line is 0; thentan 6 =0
tan &= 10

tan &= tan O°

g=1"
So, the inclination of the given line is 6 = 0°
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(i)  Whenslope of line is 1; thentan 6 = 1
tan 7 =1

tan & = tan 45"

g=45"
So, the inclination of the given line is 6 = 45°

(iii)  When slope of line is v/3 ; then tan 6 = 3
tan & = \E
tan & = tan 60"

g=60"
S0, the inclination of the given line is 6 = 60°

. T _1
(iv)  When slope of line is Nei then tan 6= N

1
tan & = —
NG

tan & = tan 30"

g=730"
S0, the inclination of the given line is 6 = 30°

5. Write the slope of the line which is:
Q) Parallel to x-axis.

(i) Perpendicular to x-axis.

(iii)  Parallel to y-axis.

(iv) Perpendicular to y-axis.
Solution:

Q) The inclination of line parallel to x-axis is 6 = 0°
Slope (m) =tan 6 =tan 0° =0

(i) The inclination of line perpendicular to x-axis, the inclination is 6 = 90°
Slope (m) = tan 6 = tan 90° = oo (not defined)

(iti)  The inclination of line parallel to y-axis, the inclination is 6 = 90°
Slope(m) = tan 6 = tan 90° = co(not defined)

(iv)  The inclination of line perpendicular to y-axis, the inclination is 6 = 0°
Slope(m) =tan 6 =tan 0° =0

6. For each of the equation given below, find the slope and the y-intercept:
0] Xx+3y+5=0

(i) 3x-y-8=0

(i) bx=4y+7

(iv) x=5y-4
(V) y=7x-2
(vi) 3y=7
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(vii) 4y+9=0

Solution:
Equation of any straight line in the form y = mx + ¢, where slope = m(co-efficient of x) and
y-intercept = c(constant term)

(i)
x+3y+5=10
Ay=—x—-125
_—x=5
T3
el
773 3
: 1
slope = co-efficient of x = —E
y-intercept = constant term = _E
(ii)
3x—y—-8=0
—-y=-3x+3
¥ =3x+{-8)
slope = co-efficient of x =3
y-intercept = constant termn = -8
(iii)
Sk =4+
dy =ox—77
_ox-T
77Ty
_2 X+ —?
77y 4
. 5
slope = co-efficient of x = Z
y-intercept = constant term = ——
(iv)
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x=5y—4
Sy=x+4
x+4
B
1 4

=—x+—-
Y5

: 1
slope = co-efficient of x = —

y-ntercept = constant term = %
V)

y="Tx-2

¥ :?x+{—2]

slope= co-efficient of x =7
y-intercept = constant termn = -2

(vi)
Zy =T}
S3y=0-x4+7
0 7

=—x+4+—
YTFET3

.
=0.x+—
7 7

slope= co-efficient of x=0
y-ntercept = constant term = %
(vii)
4y+9=0
dy=0.x-59

Y=373

g
=0.x4+|-=
e ( 4]

slope= co-efficient of x=0

y-intercept = constant term = —

7. Find the equation of the line whose:
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Q) slope = 2 and y-intercept = 3
(i) slope =5 and y-intercept = -8
(iii)  slope = -4 and y-intercept = 2
(iv)  slope =-3and y-intercept =-1
(V) slope = 0 and y-intercept = -5
(vi)  slope =0 and y-intercept =0
Solution:

(i)

Slope is 2,50,m=2
Y-interceptis 3,50,c=3
y=mxtc

y=2x4+3

Hence, the equation of the required lineisy =2x + 3

Slopeis5,som=5
Y-intercept is -8, so ¢ = -8
y=mrtc

y=5x+-48

Hence, the equation of the required line is y = 5x + (-8)

(iii))  Slopeis-4,s0,m=-4

(iv)

v)

(vi)

Y-intercept is 2, so, c =2
y=mx+tc

y=—4x+2

Hence, the equation of the required line isy = -4x + 2

Slope is -3, so, m = -3
Y-intercept is -1, so, c = -1
y=mxtc
y=—3x-1

Hence, the equation of the required lineisy =-3x - 1

Slope is 0,50, m=0
Y-intercept is -5, so, ¢ = -5
y=mrtc
y=0. x+{—5}|

y=-5

Hence, the equation of the required lineisy = -5
Given

Slope is 0, s0,m =0

Y-interceptis 0,s0,c=0

y=mr+c

y=0.x+0

y=10

Hence, the equation of the required lineisy =0
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8. Draw the line 3x + 4y = 12 on a graph paper. From the graph paper. Read the y-intercept

of the line.
Solution:

2 3X +4y =12

98-7-6-5-43-2-1.01234§678¢9

-2

According to the graph, the required y-intercept is 3

9. Draw the line 2x - 3y - 18 = 0 on a graph paper. From the graph paper read the y-intercept
of the line?
Solution:
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-9 -8-7-6-5-4-3-2 -'_I_I

-2

2x-3y-18=0

According to the graph, the required y-intercept is -6

10. Draw the graph of line x + y = 5. Use the graph paper drawn to find the inclination and the
y-intercept of the line.
Solution:
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-9-8-7-6-5-4-3-2 -'!1

-2

x+y=>5
y=—x+5
y={—1}-x+5 ...... (A

We know that equation of any straight line in the formy = mx +c,
From equation (A) , we have
m=—1

tan & =—1
tan & = tan 135"

g=135"
And,c=5
Hence, the required inclination is 6 = 135° and y-interceptisc =5
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